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Chapter 8

Economic Efficiency
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Marginal Cost, MC
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Government’s surplus, GS
GS= -

Total surplus, TS
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Price Ceiling

S+s

B

F
=B +F= +
CS | A+tB+H | A -(B+H)
PS | G+F+I G -(F+I)
GS |0 B+F | +(B+F)
TS | A+B+H | A+G | -(H+])
+G+F+I | +B+F
= A+B+G+H+I
CS | A+F A+F+B+H B+H
PS | B+C | A+B+C+G A+G
GS |0 -(A+B+G -(A+B+G
+H+I) +H+I)
TS | A+tF | A+F+B+C-1 | -I
+B+C
CS | A+tF+G | A+tF+B B-G
PS |B+C+H |C -(B+H)
GS |0 0 0
TS | A+F+G | A+tF+B+C | -(H+G)
+B+C+H




) Price Supports

p = C+G+H+K+I+]J
S CS | AtF+G |F -(A+G)
PS |B+H A+B+G | A+G+K
+H+K
D+Dg | GS |0 -(C+G+H | -(C+G+H

+KHIH)) | +KAHTH)

TS | A+tF+G | A+F+B -(C+H+G
D . +B +H -(C+J+D) | +I+))
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) Price Floor

P
CS | A+tF+G | F -(A+G)
PS | B+C A+B A-C
GS |0 0 0
TS | A+tF+G | A+F+B -(C+G)
+B +C
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MB, + MB, +---+ MB,, = MC
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(2) MC=Q +3
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